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1. Hereisa C++ program. Answer the questions in its comments.
#include <iostream>
using namespace std;
int main(int arge, char* argv[]) {
~int YourID = 10272003;
cout << “Your ID is: “ << YourID << end];
//(1) What will be printed by the above statement"

int sum = 0;
nt I;
int Mod = 10;

for(I=0; I < 8; I++){
//(2) What is the initial value of I?
it x = YourID%Mod;
//(3) What is the value of x when I is 5?
YourID /=Mod;
sum = sum*10 + x;
//(4) What is the value of sum when x is 7?

3 |
//(S) What are the values of I and sum?
return 0;
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2 Ca s Show the truth table of the given logic circuit.

34R3% A max 2 T BAF R int R KL 0 HFIA max_2 BT = int B K4 89 % 2 max_3 (10%)
int max_2(int a, int b) {
return (a>b)? a: b;
}
int max_3(int a, int b, int ¢) {

/1 ey 72 X 2%
}

4. £(0)=0, f(1)=1, fln)=f(n-1)+f(n-2) for n >=2. 3% & & fib()T LA & 4 f(n) - 3HE AL E 84 53 2 A% fib()
int fib(int n) {

/ity 2 X7
}

STHRMREELE —ENNAT 04 2 FAELEE Yy > HH x3% % 48 4B E L 47 2 (10%)
unsigned int x = 48;
unsigned int y =47 + rand()%x;

6. Convert the following hexadecimal numbers to binary and decimal representatlons (10%)
B ~2F3h

Z. ~4l1Ah
AN ~ 1001 h
T ~215h

rX, ~1¢¢h
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e/2) + (€%A4) + (T%X) =%
Jz=2z1u
0z = A
=X ¢/
K=px
{667 = A Suo
‘6ST=x8uo| 7/
T=/K
‘00T=+%X
X = A ur
G=xJu ¢/
Z4+0lf=X
X4+ =zZur
SH4X = A qur
Il =X 77/
(SST % (€,=6,+.V,~H,)) = A ur

W(ssh)l (0Tveg)) =xu 177
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